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Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers

fifteen minus W equals nine

1.
N times two equals two

2.
U divided by nine equals eight

3.
The sum of seven and G is thirteen

4,
eleven minus A equalsfive

5.
The product of F and three is twenty-four

6.
M divided by four equalsten

7.
The sum of five and C isthirteen

8.
T minus eight equals seven

9.
K times five equals thirty

10.
E divided by seven equals three

11.
The sum of Jand threeis seven

12.
The difference between twelve and A is nine

13.
two times R equals six

- ' 14.

B divided by two equalsfive

15.
The sum of D and two isnine

16.
sixteen minus Y equalsten

17.
eight times B equals sixty-four

18.
P divided by two equals nine

19.
Z divided by three equals three

20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

fifteen minus W equals nine

1. 15-W =9
N times two equals two

2. Nx2=2
U divided by nine equals eight

3 U+9=8
The sum of seven and G is thirteen

4. 7+G =13
eleven minus A equalsfive

55 11-A=5
The product of F and three is twenty-four

6. Fx3=24
M divided by four equalsten

7 M=+4=10
The sum of five and C isthirteen

8. 5+C=13
T minus eight equals seven

9. T-8=7
K times five equals thirty

100 Kx5=30
E divided by seven equals three

11. E+-7=3
The sum of Jand threeis seven

n J+3=7
The difference between twelve and A is nine

3 12-A=9
two times R equals six

11, 2XR=6
B divided by two equalsfive

15. B+2=5
The sum of D and two isnine

16. D+2=9
sixteen minus Y equalsten

17. 16-Y =10
eight times B equals sixty-four

18. 8xB=64
P divided by two equals nine

9. P+2=9
Z divided by three equals three

20. Z+3=3
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ﬂé Rewriting Equations Name:

Rewrite each number sentence using numer als and symbols. Answers
1) seventeen minus R equalsten
1.
2) The product of Z and eight isforty
2.
3) sixty-four divided by A equals eight
3.
4) Thesum of six and M istwelve
4,
5) W minus four equals five
5.
6) The product of two and Pisten
6.
7) T divided by seven equalsthree
7.
8) eight plus U equalstwelve
8.
9) ten minusJegquals eight
9.
10) threetimes G equalsfifteen
10.
11) Y divided by seven equals one
11.
12) B plus nine equals nineteen
12.
13) Thedifference between twelve and N is eight
13.
14) B timesfive equalsfive
14.
15) fivedivided by E equalsfive
15.
16) Thesum of ten and F is sixteen
16.
17) Thedifference between five and D isone
17.
18) H times seven equal s twenty-eight
18.
19) twenty-four divided by C equals four
19.
20) fivetimes A equalsfifteen
20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

seventeen minus R equalsten

1. 17-R=10
The product of Z and eight isforty

 Zx8=40
sixty-four divided by A equals eight

3 64+A=8
The sum of six and M istwelve

4. 6+M =12
W minus four equalsfive

s W-4=5
The product of two and Pisten

6. 2xP=10
T divided by seven equals three

7. T+7=3
eight plus U equals twelve

8. 8+U=12
ten minus J equals eight

9. 10-J=8
three times G equals fifteen

100 3xG=15
Y divided by seven equals one

11 Y+-7=1
B plus nine equals nineteen

. B+9=19
The difference between twelve and N is eight

3 12-N=8
B timesfive equalsfive

14, Bx5=5
five divided by E equalsfive

15. 5-E=5
The sum of ten and F is sixteen

16. 10+ F=16
The difference between five and D is one

17. 5-D=1
H times seven equal s twenty-eight

18. Hx7=28
twenty-four divided by C equals four

19. 24+-C=4
fivetimes A equalsfifteen

o0, DXA=15
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ﬂé Rewriting Equations Name:

Rewrite each number sentence using numer als and symbols. Answers
1) B minus nine equals one
1.
2) The product of nineand Y isthirty-six
2.
3) threedivided by B equalsthree
3.
4) The sum of P and fiveisfourteen
4,
5) H minusten equals four
5.
6) Ctimessix equalsforty-eight
6.
7) Fdivided by nine equals one
7.
8) T plustwo equalsfour
8.
9) fourteen minus G equals ten
9.
10) The product of D and two is fourteen
10.
11) eight divided by A equals four
11.
12) The sum of seven and Z is seventeen
12.
13) nineteen minus J equals ten
13.
14) R timesthree equals twenty-seven
14.
15) fifty-six divided by M equals eight
15.
16) Thesum of N and four isten
16.
17) The difference between nine and E istwo
17.
18) The product of A and nineisforty-five
18.
19) K divided by four equals eight
19.
20) The product of five and U isthirty
20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

B minus nine equals one

1 B-9=1
The product of nineand Y isthirty-six

s, 9xY =36
three divided by B equalsthree

3 3+B=3
The sum of P and fiveisfourteen

s, P+5=14
H minus ten equals four

55 H-10=4
C times six equals forty-eight

. Cx6=48
F divided by nine equals one

7. F+-9=1
T plustwo equals four

3. T+2=4
fourteen minus G equalsten

0. 14-G =10
The product of D and two is fourteen

o Dx2=14
eight divided by A equals four

11. 8-A=4
The sum of seven and Z is seventeen

v (+Z=17
nineteen minus J equals ten

1 19-J=10
R times three equal's twenty-seven

14. R x3=27
fifty-six divided by M equals eight

15. 56+M =8
The sum of N and four isten

16. N+4=10
The difference between nine and E is two

17. 9-E=2
The product of A and nineisforty-five

18. A x9=45
K divided by four equals eight

19. K+4=8
The product of five and U isthirty

0 HxU=30
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Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers

E minus nine equals ten

1.
The product of four and K istwelve

2.
A divided by eight equals six

3.
two plus Z equals twelve

4,
Y minus four equals five

5.
The product of R and three is fifteen

6.
H divided by six equals two

7.
The sum of nineand T is fifteen

8.
M minus ten equals one

9.
U times nine equals eighteen

10.
C divided by seven equalsfive

11.
five plus B equals eleven

12.
P minus eight equals eight

13.
The product of six and N is forty-two

14.
eight divided by F equals eight

15.
W plus two equals ten

16.
The difference between seventeen and G is seven

17.
The product of one and Jis four

18.
A divided by nine equals three

19.
The product of D and nineis nine

20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

E minus nine equals ten

1. E-9=10
The product of four and K istwelve

0 4xK =12
A divided by eight equals six

3z A+8=6
two plus Z equals twelve

4. 2+7 =12
Y minus four equals five

s Y-4=5
The product of R and three is fifteen

. Rx3=15
H divided by six equals two

7. H+-6=2
The sum of nineand T is fifteen

8. 9+T=15
M minus ten equals one

9. M-10=1
U times nine equals eighteen

100 Ux9=18
C divided by seven equalsfive

11 C+7=5
five plus B equals eleven

. 5S5+B=11
P minus eight equals eight

3 P-8=8
The product of six and N is forty-two

14. 6xN =42
eight divided by F equals eight

15. 8+F=8
W plus two equals ten

16. W+2=10
The difference between seventeen and G is seven

17. 17-G =7
The product of one and Jis four

18. 1xJ=4
A divided by nine equals three

19. A+-9=3
The product of D and nineis nine

20. Dx9=9
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ﬂé Rewriting Equations Name:

Rewrite each number sentence using numer als and symbols. Answers
1) Thedifference between six and Jisthree
1.
2) onetimesH equals nine
2.
3) Edivided by four equals six
3.
4) The sum of one and F isthree
4,
5) fourteen minus C equalsten
5.
6) four timesU equalsforty
6.
7) K divided by eight equals two
7.
8) Thesum of R and ten is sixteen
8.
9) P minus one equals four
9.
10) four times B equalstwelve
10.
11) Y divided by two equals one
11.
12) five plus W equalstwelve
12.
13) B minus ten equals seven
13.
14) twotimes N equals eight
14.
15) forty divided by Z equalsten
15.
16) six plus T equalsfifteen
16.
17) M minus one equalstwo
17.
18) The product of five and D isfifteen
18.
19) A divided by seven equals one
19.
20) two plus G equals four
20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers
1) Thedifference between six and Jisthree
1 6-J=3
2) onetimesH equals nine
> 1xH=9
3) Edivided by four equals six
s E+4=6
4) The sum of one and F isthree
4. 1+F=3
5) fourteen minus C equalsten
5 14-C=10
6) four times U equalsforty
6. 4xU =40
7) K divided by eight equals two
7. K+8=2
8) Thesum of R and ten is sixteen
8. R+10=16
9) P minus one equals four
o P-1=4
10) four times B equalstwelve
0. 4xB=12
11) Y divided by two equals one
1 Y=2=1
12) five plus W equalstwelve
» S5+W=12
13) B minus ten equals seven
3 B-10=7
14) twotimes N equals eight
12, 2%XN=8
15) forty divided by Z equalsten
15. 40+-7 =10
16) six plus T equalsfifteen
16. 6+T =15
17) M minus one equalstwo
17. M-1=2
18) The product of five and D isfifteen
18. 5xD=15
19) A divided by seven equals one
19. A+-7=1
20) two plus G equals four
20. 2+G =4
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Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers

thirteen minus N equals six

1.
The product of Jand threeisthree

2.
A divided by seven equals four

3.
five plusK equalsfifteen

4,
The difference between fifteen and B is nine

5.
six times A equals sixty

6.
R divided by two equalsfive

7.
nine plus D equals fourteen

8.
The difference between ten and F is three

9.
onetimesY equals six

10.
forty-eight divided by H equals eight

11.
seven plus U equals sixteen

12.
The difference between ten and Z is four

13.
P times three equal s eighteen

14.
E divided by nine equals two

15.
The sum of M and threeis six

16.
C minus four equals two

17.
The product of T and fiveisten

18.
B divided by four equals one

19.
W times nine equals sixty-three

20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

thirteen minus N equals six

1 13-N=6
The product of Jand threeisthree

2. Jx3=3
A divided by seven equals four

s A+7=4
five plusK equalsfifteen

4. H+K=15
The difference between fifteen and B is nine

5 15-B=9
six times A equals sixty

. O0xA=060
R divided by two equalsfive

7 R+2=5
nine plus D equals fourteen

s 9+D=14
The difference between ten and F is three

9. 10-F=3
onetimesY equalssix

10. 1xY =6
forty-eight divided by H equals eight

11 48+-H =8
seven plus U equals sixteen

» (+U=16
The difference between ten and Z is four

3 10-Z=4
P times three equal s eighteen

14. Px3=18
E divided by nine equals two

15. E+-9=2
The sum of M and threeis six

16. M+3=6
C minus four equals two

17. C-4=2
The product of T and fiveisten

18. Tx5=10
B divided by four equals one

19. B-4=1
W times nine equals sixty-three

0. W x9=63
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ﬂé Rewriting Equations Name:

Rewrite each number sentence using numer als and symbols. Answers
1) T minussix equals eight
1.
2) The product of two and Z istwelve
2.
3) twenty-four divided by B equals eight
3.
4) The sum of ten and Jistwenty
4,
5) The difference between thirteen and R is eight
5.
6) tentimesY equals seventy
6.
7) fifty-six divided by W equals eight
7.
8) Thesum of C and fiveissix
8.
9) The difference between nineand A isone
9.
10) The product of one and M isnine
10.
11) D divided by six equals one
11.
12) U plus eight equals thirteen
12.
13) twelve minus H equalsthree
13.
14) G timesten equalsthirty
14.
15) twenty divided by B equalsfive
15.
16) K plusthree equalsten
16.
17) twelve minus F equals seven
17.
18) onetimes A equalstwo
18.
19) Pdivided by five equalstwo
19.
20) E divided by two equals one
20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers
T minus six equals eight
1 T-6=8
The product of two and Z istwelve
o 2%x/2=12
twenty-four divided by B equals eight
3z 24+-B=8
The sum of ten and Jis twenty
4 10+J=20
The difference between thirteen and R is eight
5. 13-R =8
tentimes Y equals seventy
. 10xY =70
fifty-six divided by W equals eight
7. 56+-W =8
The sum of C and fiveissix
3. C+5=6
The difference between nine and A is one
0. 9-A=1
The product of one and M is nine
10. 1xM=9
D divided by six equals one
11. D+-6=1
U plus eight equals thirteen
. U+8=13
twelve minus H equals three
3 12-H=3
G timesten equals thirty
14. Gx10=30
twenty divided by B equalsfive
15. 20-B=5
K plusthree equals ten
16. K+3=10
twelve minus F equals seven
17. 12-F=7
onetimes A equalstwo
18. 1xA=2
P divided by five equals two
9. P+5=2
E divided by two equals one
20. E+-2=1
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Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers
1) A minus one equals nine
1.
2) The product of U and three isfifteen
2.
3) twenty-onedivided by Y equals seven
3.
4) C plussix equals seven
4,
5) The difference between six and B isthree
5.
6) The product of eight and K is sixteen
6.
7) forty divided by H equalsfive
7.
8) seven plusM equals eleven
8.
9) five minus G equals one
9.
10) Ptimes nine equals nine
10.
11) forty-two divided by N equals seven
11.
12) four plus A equals eleven
12.
13) fifteen minus R equals six
13.
14) The product of F and fiveisforty-five
14.
15) W divided by three equals seven
15.
16) five plus E equals seven
16.
17) Thedifference between twelveand T isfive
17.
18) The product of three and Jistwelve
18.
19) B divided by seven equals nine
19.
20) D pluseight equalsfifteen
20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

A minus one equals nine

1 A-1=9
The product of U and three isfifteen

. Ux3=15
twenty-one divided by Y equals seven

3 21+Y =7
C plus six equals seven

4. C+6=7
The difference between six and B isthree

5. 6-B=3
The product of eight and K is sixteen

6. 8xK =16
forty divided by H equalsfive

, 40+H=5
seven plus M equals eleven

s [(+tM=11
five minus G equals one

0. 5-G=1
P times nine equals nine

10. Px9=9
forty-two divided by N equals seven

11 42 +-N=7
four plus A equals eleven

n 4+A=11
fifteen minus R equals six

3 15-R=6
The product of F and fiveisforty-five

1u. Fx5=45
W divided by three equals seven

15. W-+3=7
five plus E equals seven

16. 5+E=7
The difference between twelve and T isfive

17. 12-T=5
The product of three and Jistwelve

18. 3xJ=12
B divided by seven equals nine

19. B+7=9
D plus eight equals fifteen

20. D+8=15
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Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers

The difference between fourteen and R is nine

1.
The product of P and seven isforty-nine

2.
G divided by eight equalsten

3.
The sum of six and Z is sixteen

4,
The difference between eleven and Jistwo

5.
The product of N and seven is thirty-five

6.
sixty-three divided by A equals seven

7.
The sum of W and nineis fourteen

8.
The difference between eleven and C istwo

9.
one times E equalstwo

10.
seventy-two divided by Y equals nine

11.
The sum of K and nineisfourteen

12.
The difference between six and U is one

13.
ten times T equals fifty

14.
A divided by seven equals four

15.
The sum of D and ten is twenty

16.
The difference between four and B is one

17.
F times eight equal s thirty-two

18.
seventy-two divided by H equals eight

19.
nine plus B equals thirteen

20.
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ﬂé Rewriting Equations Name:

Rewrite each number sentence using numer als and symbols.
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Answer Key

The product of P and seven isforty-nine
G divided by eight equalsten

The sum of six and Z is sixteen

The product of N and seven is thirty-five
sixty-three divided by A equals seven

The sum of W and nineis fourteen

one times E equals two

seventy-two divided by Y equals nine
The sum of K and nineisfourteen

The difference between six and U isone
ten times T equals fifty

A divided by seven equals four

The sum of D and ten is twenty

The difference between four and B is one
F times eight equal s thirty-two
seventy-two divided by H equals eight

nine plus B equals thirteen

Answers
The difference between fourteen and R is nine
, 14-R=9
. Px7=49
;3 G+8=10
4. 6+7Z =16
The difference between eleven and Jistwo
5 11-J=2
6. N x7=35
7. 63+A=7
s W+9=14
The difference between eleven and C istwo
0. 11-C=2
0. 1xE=2
11. 2+Y =9
p K+9=14
13 6-U=1
14. 10x T =50
15. A+-7=4
16. D+ 10 = 20
17. 4-B=1
18. Fx8=32
19. 72+-H =8
20. 9+B =13
1-10 | 95|90|85|80| 75| 70| 65| 60|55 | 50
www.CommonCoreSheets.com 9 11-20|45|40|35|30|25|20(15|10|{ 5| O

Math




|

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

15)

16)

17)

18)

19)

20)

Rewriting Equations Name:
Rewrite each number sentence using numer als and symbols. Answers

B minusten equalsfive

1.
The product of M and nineis eighteen

2.
Z divided by five equals one

3.
K plus seven equals twelve

4,
fourteen minus A equals nine

5.
The product of B and seven is seventy

6.
fifty-four divided by P equals six

7.
The sum of fiveand H isten

8.
The difference between eleven and U is three

9.
The product of one and G isthree

10.
fifty divided by Y equalsfive

11.
T plus nine equals fifteen

12.
The difference between sixteen and F is eight

13.
The product of seven and Jis twenty-eight

14.
twenty-seven divided by N equals nine

15.
The sum of D and seven is seventeen

16.
twelve minus E equals eight

17.
seven times C equal s twenty-one

18.
A divided by four equals two

19.
ten divided by R equalsfive

20.
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Rewriting Equations Name: Answer Key
Rewrite each number sentence using numer als and symbols. Answers

B minusten equalsfive

1. B-10=5
The product of M and nineis eighteen

>, M x9=18
Z divided by five equals one

3 Z+5=1
K plus seven equals twelve

s K+7=12
fourteen minus A equals nine

55 14-A=9
The product of B and seven is seventy

e. Bx7=70
fifty-four divided by P equals six

7. 5S4+-P=6
The sum of fiveand H isten

s o©5+H=10
The difference between eleven and U is three

0. 11-U=3
The product of one and G isthree

0. 1xG=3
fifty divided by Y equalsfive

11 50+Y =5
T plus nine equals fifteen

. 1+9=15
The difference between sixteen and F is eight

3 16-F=8
The product of seven and Jis twenty-eight

14. 7%xJ=28
twenty-seven divided by N equals nine

15. 27 +-N=9
The sum of D and seven is seventeen

16. D+7=17
twelve minus E equals eight

17. 12-E=8
seven times C equal s twenty-one

18. IxC=21
A divided by four equals two

19. A+-4=2
ten divided by R equalsfive

20. 10-R=5
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